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A | ZEEH (2o | R | SR | Rit (2o
4 28178 —750% | 6.53% 106758
5 31973 —2.80% | 13.47% 138730
6 33526 —1.80% | 4.86% 172256
7 32203 —1.10% | —3.95% 204459
8 33571 050% | 4.25% 238029
9 35295 330% | 5.14% 273324
10 38576 430% | 9.30% 311901
11 39514 5.00% | 243% 351415
12 40566 460% | 2.66% 391981

o o w »

b2

2020 4F 4 33 12 A4y, iEt e B EaHEH Lt
2020 £ 4 A4 12 A, 11 A4 RS KERK
2020 4F 4 A0 #1112 A4y, 5 A KR ER
5B 4 ZRPER Y S SEURILL SR 2 FRPE R T S B, N

2 2 2
2. XL T S5 =1 il C: Tptb=1(a>b>0)fo Lk, I

A, HliZR A xR

C. gk I ff HAUA 4 FKHmEL
3. CAIENM G M HRIIAK N2, FIRERKA 242, kKN 2, Wi

A. HEEIITER N 67

C. e b 5 RETT T I i O AT

B. #HZk I A XFRA O
D. %k r 5#R C B a3tl

B. Bt MR 1443

D.ﬁé%%ﬁ%&ﬁ%&%:ﬁﬁ%%ﬁﬁﬁg

)

)

4. CHIREL f(x)=3sin2x+4cos2x, g(x)=f(X)+[f(x)]. &HAE XER, MEE xER, f(x)=

f(x0), M (

A. fEE XER, f(x+x0)=f(X—xo)
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B. f£& xER, f(X)<f(x
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